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A: Gle- I I O — II {UII612 %

B: O - I I Of e — I1 JLHI612 S5

C: Ofe- 1 &7 (8 Ofe - 1 &%

D: Ofe- | &% [ Ofe - 11 9%

Topic: Chemistry-Section A
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Question ID: 1569468




Question Type:

MCQ

Question: I SS N (>99.05%) GIRRIZGUGH (AT I -

A: O e ©ae1 11 719® ([T S|

B: ARIGFIEG AT (AT EAFC T2F Fi< e [Rrarme sf{ee|

c. SN Tl (TN TRGHEG HIS (VB 2B G0 NGrs [F77¢ [reme
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Topic: Chemistry-Section A
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Question ID: 1569469

Question Type: | MCQ

Question: g Qg PR
A Be>Mg=>Ca>5r

B sr=Ca>Mg=>Be
C: Sr>Be>Mg=>Ca

D Be>=5r>Mg=>=Ca
Topic: Chemistry-Section A
Item No: 70

Question ID: 1569470

Question Type: | MCQ
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Question: NO. N,0, B,03, N,Os, CO, SO5. P,O1,
A: 3

B: -

C: 5

D: 6

Topic: Chemistry-Section A

Item No: 71

Question ID: 1569471

Question Type: | MCQ
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Question: ) I ) 2 ] -
A [Ni(en)s]°". B : [Ni(NH;)g]"". C : [Ni(H,0)g]
C<B<A

B: B<C<A




C: C<A<B

D: A¥XC<B

Topic: Chemistry-Section A
Item No: 72

Question ID: 1569472

Question Type: | MCQ
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Question:
C. P IIL. oG5 cae
D. TS S IV 7
e Sees 291wy oo 7% GEed -
A: A-II B-III. C-IV, D-I
B: A-IV. B-III. C-II. D-I
C: A-IIL, B-11. C-1, D-IV
D: A-IIL B-II. C-IV, D-I
Topic: Chemistry-Section A
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Question ID: 1569473
Question Type: | MCQ
fafEi AT 10 e =
Question:
(9]
Br
S
A:
O
Br Br
B: /l\n/{)\/\
O




Br

BF\W

C:
O
Br
D: Br W
0
Topic: Chemistry-Section A
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Question ID: 1569474
Question Type: | MCQ
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Question: OH
HA2O
9]
O
A:
il %
0 OH
B:
H
0 O
C:
H
O
D:
H /LH"/K
Topic: Chemistry-Section A
Item No: 75
Question ID: 1569475
Question Type: | MCQ
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OH OH OH OH
Question: @\ @
NO, OCH;
(A) (B) (C) (D)
A: A=B=C=D
B: B=A=>C>=>D
C: D>=C=>=A>B
D: D>C>=B=A
Topic: Chemistry-Section A
Item No: 76
Question ID: 1569476
Question Type: | MCQ
: + 9
CH; - CH, - ON CH;MgBr =, H30" .  Zn-Hg
Ether H(Cl

Question: ETIC

C &G N T
A: CH3- CHy- CHp- CH3

0

B: ||

CH3- CHy- C- CH3

OH

C: I

CH3- CHy- CH- CHy
D: CH3- CHy- CH=CH>»
Topic: Chemistry-Section A
Item No: 77
Question ID: 1569477
Question Type: | MCQ
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Question: B f=wge oonw I == 75w
C. &% Tige # e I 3=
D. (% IV, o=

e Fogs w91 =g Toa oiE Efegr -

A AL B-I. C-IV. D-II
B: A-IIL B-IV, C-1. D-II
C: A-IL B-I. C-IV. D-III
D: A-II. B-IV, C-1. D-III
Topic: Chemistry-Section A
Item No: 78

Question ID: 1569478

Question Type: | MCQ

Question: RFER G 2, 0- $FFEE C1 B f- FFES C2 T Wore (o7 T
A: =6

B: REPGy

C: GETRCH

D: NG

Topic: Chemistry-Section A

Item No: 79

Question ID: 1569479

Question Type: | MCQ
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Question: | o141 9% ! BT T -
A: Eﬂ%ﬂm
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C: sffstafsreryas 2=

D: RS RO CIR AT




Topic:

Chemistry-Section A

Item No: 80
Question ID: 1569480
Question Type: | MCQ

Question: 23 WS CFa© (MY (A€ (%78 {1 (o 91w e =i (=
A: FEAAG TN

B (RO BIRFS T

C: fee=yfere %

D (RRNTG Y

Topic: Chemistry-Section B

Item No: 81

Question ID: 1569481

Question Type:

Numeric Answer
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Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type:

Numeric Answer

2 dm?> HTIENOIR J0T I FIHS 11 g ATHW (5% TR | FTHGI 2N 736
C (W B9 2 MPaSIfoF N H(F (ofed & [RrFEfTe 29| 79 [rwEe

Question: (2 GHT] =6 =C| [[NFOON WY Y]
(T =MR: R = 8.3 TK! mol )
C W1 H T ATINEF ©F AT 120 & 1u |
Topic: Chemistry-Section B
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Question ID: 1569483

Question Type:

Numeric Answer

(O n = 5 © A1 BLGIGro H ATNF RAHA 0T 9IS SHIC 113

Question:

IR, T fN9fe (=T ({99 T = e |
Topic: Chemistry-Section B
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Question ID:

1569484

Question Type:

Numeric Answer

(TOH SIS STHRIT NI I QA2 LA, (WA TR
B -
HCl + NaOH — NaCl + H,0 AH =—57.3 kJ mol™!

Question:
CH;COOH + NaOH — CH3;COONa + H,0 AH=-553kJ mol!
RIEGA ST G871 CH;COOH ST AN 2'e kJ
mol L. |

Topic: Chemistry-Section B

Item No: 85

Question ID: 1569485

Question Type:

Numeric Answer

Question:

AN SAGGAT M, CH;N,CH;(g) — CH;CH;(g) +N,(g) BT &YW
NS [RIEH1. 600 K © S1EHF 5191 {79~ STNwR 07e Mar =31

Slope = - 3.465 x 10*

P
In|— e
_PU] =
Lt

RIFTOR TGRS T« 10755 [[NEEoN T4 4]
Topic: Chemistry-Section B
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Question ID: 1569486

Question Type:

Numeric Answer
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Question:

ALY (AT 209
Topic: Chemistry-Section B
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Question ID: 1569487




Question Type:

Numeric Answer

M3 SIS 91N ST RERIT A s N G /0™, Mod /M2, FdT/Fe2™

Question: I Co’7/Co?™ (AHF [WoT0, TF AMYF AN AAJ [dod AR, T¢
___BMI Iﬁﬁﬁkﬂﬂ TR ML)

Topic: Chemistry-Section B
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Question ID: 1569488

Question Type:

Numeric Answer

SI212e (WMAIREE SIGRGS F5M0 A6 WS W AL JAF2 R-
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Question:
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Topic: Chemistry-Section B
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Question ID: 1569489

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
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Question ID: 1569490

Question Type:
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